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i )X-ray
/
absorber Ca
| (||)X—ray
=/
TES C T
ée
heat sink
021200000000
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di?__ixAT ATy-gAT—IngR (2.183)
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0D0000000a~ (T/R)(AR/AT)0P=V2/ROODODO00000000(2183)000

IAT G G Pa

T = ZOAT, — AT) — ZAT — AT 2.184

@~ )-C CT (2.184)
0000000000000000 RPOOOOOOOOOOOD TESOOOOOOOOOO
00000000000 74=C,/Ge07=C/GOvy=C,/COLy=Pa/GTO OO O(2.183) 0

0 (2184) 00000 ATO0ODDOOOODO

10Ta AT, + {(1 + )70 + (Lo + D) 7o }AT, 4 (Lo + 1)AT, =0 (2.185)

0000000 AT, 0000000000000 000AT, =exp(At) D0O0OOOOOO A
gobobooooooobooobbDo

_ 20+ )10+ (Lo+ D7a}? — 407a(Lo +1) — {(1 + )70 + (Lo + D7a}
27197,

At (2.186)

oooooooobooo pgo

D= {14770+ (Lo + 1)7a}* — 47970(Lo + 1)
= {ro(y = 1)+ 7a(Lo+ 1)} +4y78 > 0
000O0ADOODOO00O000000000000000000000000000 A_<>:<0

ogoon

1
TS =

DY
_ 2707 (2.187)
VIO + )10+ (Lo + D)7a}2 — 4107 (Lo + 1) + {(1 + )70 + (Lo + 1) 70}
1
T, = —Z
2707,
(2.188)

T A0 )10+ (Lot Dral® — Grora(Lo + 1) + {(L +7)70 + (Lo + 1)7a}
gdodg (2.185)DDD AT, 00000 Ag O A, 00000

t t
AT, = Agexp(——) + Ar exp(——) (2.189)
TS TL
O0000000((2183)000 ATODOODO
Ta t Ta t
AT = Ag(1 — — ——)+ AL (1l - — - 2.190
s1= Dyep(-D) + 41 - Zyep(-1) (2.190)
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F o As( = e D)+ A= Mexp(-)} (219

OO00OO00OODObOOO00DO0O0OooOD Ag0A,0D000O0ODDODODOO0OOOOOOOO
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0000000000 ¢t=00 AT,(t=0)=E/C, = AT,,0AT(t=0)=000000000
(2.189)0(2.190) 00000 Ag0A, 000000

AT,
As = o0 (1- 1) (2.192)
TS TL
AT,
Ap=——20 - (2.193)
ik A

OoO00ooOoO0OooOoOooooTESODOOOOOO

I aR ATa70 t t
SRR T rar—19) (Ta — 75) (71 — Ta){exp( TL) exp( Ts)} (2.194)
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0000000000 ¢t=00 AT,(t =0) =00AT(t=0)= E/C=AT, 0000000
(2.189)0(2.190) 00000 0O0O0DO0D0O As0A, 000000

AT,

Ag = — — — (2.195)
TS TL
AT,
Ap = % (2.196)
Ts T
O0o0OTESOOOOOODO
I aR ATQ t t
Al = = — 74) exp(—— - L 2.1
Rt T marn —79) {7s(7 — 7a) exp( TL)+TL(T 7s) exp( 7_S)} (2.197)
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L 1
A = 2 (2.199)
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1
A= —— (2.200)
Ta
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1 T0
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1
o= — (2.202)
A
000000000 XO000O000O00 TESOOO000 AI0DD(2194) 0000
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IR T 0 exp( TL) ( )
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7o
oooog
1 T0 Y
- __ v 1+ 2.208
NP i ( cm) (2:208)
1 70 g
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2833 <L, 0000 7eg>717, 000

e = (1+7)/(Lo+1)7 0000 0(2.186) 00

/(L4 L0)2(7ert +7a)* {1 — )2z} — (14 Lo) (7ert + 7o)
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00000000007 < 70000 rg>7 00000000
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As = Teft 7 (2.213)
2707,
Ooooooooooooooooan
U (2.214)
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A =—(1+ )( L. 1) (2.215)
- 7 Teff Ta ‘
ooong
Teg L1, 00000
Teff
= — 2.216
= L (2:216)
TL = Ta + Toff (2.217)

Oo0O00oO0O0oO0ooOoo0 Xoooooooooooo Argo

I OzRATaO Teff t) ( t)
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R+ R, T Ta {exp( TL °xp TS ( )
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O007g>» 00000

Ta
Ta = 2.220
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0000000000 O0OXFORD Kelvinox25 000000000000 124cmO00 39.4
em0000000000000000000000 031000000 HeO 501000000
00005000000000000000000000 ~25pWOO00000000~60mK
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0 3.20 IVC (Inner Vacuum Chamber) 000 0000000000IVCOOO ~ 107 Torr
0000000000000000 SQUIDOODOODO0O000O0O0O0O0H 00000 1K pot
00000000000 HeOOOODODODOOODODOOODODODOOODOOOOOOOO 1KOO
000000000000000 1.5K0000SQUIDOODO 1Kpot0OODOOOODO 1K O
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000000000000 0000OM/CO 1Kpotd E/PO0OOOOOOON (RuOy) OO
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Temperature Controller 0000 M/COOUDO0O00OUO0OO0ODOO0OOOO0OOOOODOOO
~01mKOOOODOOOOOOOOO0OO0OO0DOO0000000000000000000000
0000 330000
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3.2 0000000 (SQUID)

SQUID (Superconducting QUantum Interference Device : 000 00000) 000000
000000000000 0000000 de-SQUIDO 200000000 (Josephson) 00O
goobbooooboobbooooboouobuooooo20bobobDbooobDuoUOoa
0000000000000 0000D0D0ODO000DO00DbO00 SQUIDODOOOOOODODODO
00000000000 00000000000000SQUID 000000000000 0n
gbooobooobobbobodbobobooboob oo bDobobLoOoo
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O0O0037TMmOo0042000 de-SQUIDO OO 0OO0OOO0OO0OO0O0O0O0O0O0O0OODOOSQUID
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gooogoboo 31obobg 3dsbbooboobbooooooogboobbooooong
00o0OOoooooono Lpy=190nHOOTESOOOOO0DOOODOOODOOODODODDOOOO
goobboooooooogg

0 3.1: 400-SSA SQUID O OOOoOOd
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000000000 Ly | 90 pH (contain wire 190 nH)
000000000 M, 58 pH
Do0o0DO0oooad

0o0o0ooooo M 58 pH
000 G (= M%) 1400 V/A
00000 O 10 kHz 6.8 pA/VHz
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O 3.4: 420-SSA 0 O0OOO0OO0O O35 FRPOODODOOODOOO
ocooDOooooD 100 3 mm

x 3 mmO0O0O DC-SQUID 0O

O0o00ooOooooooooo

200 pm0O

3.2.1 SQUID noise

SQUID 00000 O0OsSQUIbDOOOOOOOO0OOOO0O0OO0O00O000OobooO00oooo
goboooboobooobobooobobbbooobobooboboboobboobboobo
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_1
o 4df 2
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(1—%)£0+(1+%>

AESQUID =2.35
Lo

in VBV Teft (3.6)

uobboooboobooobooobooboboooboooooooooooobooo

R\ .
AEsquip = 2.35 (1 - §> in VBV Teft (3.7)
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3.3 Uuong

3.3.1 %Fe OO

0000 XO00O0OO0OO000000000000000000000000 %Fe (Mn-Ka : 5.9
keV) OOOODOOOOOODOOOOOD 273000000000 300kBgOOOO0O 97.1.80
096 MBq DU OO OOOUOUOOODDOOOODOODO smm O0DOO0O0O0ODOOOODO 0.2 mm
oUOO0ODODUODOODOODOOOOOODLDOLOOOODDODODOOOODODODLODOODOO
gobooooooooboooboooobbobobobboLD Xoooooooboooooo

UboboboobobooXOobooooooooboobuoboboD Mn-Kag 5.89875 keV - Kag
5.88765 keV : K3 6.486 keV =20: 10: 30 000Kal 0000000000 O0OFe OO
ooodon0 KeOODOb59keVO MnODODOO n=200 nleDDDDDDDzP%D
00000 KelODO?P, 000000 Ke2 0ODDODDDO000O0O0O000DO KaelDOO 500
Ka20O0O 2000 7DD2DDDDDD Lorentzian O OO OODOOO0OOOOOOOOOOOO
OOooDOODoOoo 7270 AlOCrOFeODOOOOOOOOO 16

0 3.6: ®Fe 0O 0 3.7: 2 Am 00
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v000000000000001kBqg, 10kBqO *"AmO000000%Am0O 4322000
000 00000 P'Np0 0000000000 26.35keVO 59.54keVO 0000000
00 ?%"NpO0O0O La, LB, Ly000XOOODOODDOO0O 3.20 22Am0 P'NpO0 00000
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3.4 0OJO0oooobd

gbooboobobobbobboboooboboooboooooooooboobobooooon
gobooouoooogoboooboooooobooooooboooobboooooboooboo



o4 U300 bODOoboogoobooo

032 24Am0 NpOOOOOODOOOOD IDOOOOODO

ogn ooooo (keV) | OOO 00000 (keV)
Np-L1 11.890 Np-Lv; 20.7848
Np-Lay 13.9441 Np-Ls 21.11
Np-Las 13.7597 Np-L~s 21.34
Np-Ln 15.876 Np-Lyy 22.20
Np-L3y 17.7502 Np-L~s 20.12
Np-Lg, 16.8400 Np-Ls 21.488
Np-Lgs 17.989 Am 26.34
Np-Lg4 17.0607 Am 59.54
Np-Lgs 17.5081

Np-Lgs 16.13
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00000000 TESsOo0oooooooooooo
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TEsS<C R
R JMPAER __ Ve
v MEH Q SQUID
| ] J L J L |
~100 mK ~16 K ~ 300 K

039 000000000000 0R,=10kQ0O000O0

0000000000000 000O0O0000O00C0DO0O0O0O0 NPTIOODODOE/POODO
OO0 IcOoopoooooooooooooOoOoooooooooooooDoOooooOOooOooD
T, 00E/POOOOODOOOOOOOOOOOO 3900000000000 00O0OODODODO
goooooobboooooooooooboboooboooboooobooobooooopboo Do
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gooooboOoopbOoboooOoObobOOoOoO00obDOoooOoOOoO0ObOOobOOobDOoOgTESOOO
ggoobobooboooooboboooboboboooobobobbobooobobOoo
0000000000 (Meisnner) 000000000 p=000000000000000OO
0000000000000000000000000000000 1mm OO0 Pb(Te = 7.20
KyOOOoOooooooooooooo lvecOooooooooooooooooo
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= iwCRyI + I (3.8)
ooodoouoooooooooo

W = Roly + Rp1
= [Rg(l + iwCRb) + Rb]l (3.9)

oboboboooobobboboobobboooobogooobooon

Ry + Ry +iwCRyRy,
\%N 1

C Ro+ Ryl +iwC RR;(erﬁb

1

(3.10)

goopoooo

Ry Ry

VT Re+ By

(3.11)
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oooo0oU0OooboOO00oDOobOOO0DOOO0ObOOO0O0O0O0f.;=75H20000000000
oo0O0ODOOoO0O0O0OOOoboOoboOooOon fov=l16Hz20000D00O00DOOODOODO
goooogoogobboboobobobooboboobbooobbooobOooo



3.6. JOooOoOOoooo 99

OO00000o0oocOooooosQuUIbO0OoOooOoOoooooooooooooooooon
O DbDCOOOODOOOODOODACODOOOOODOOOOODOD SQUIbooOoOoOooooOoO
goooboobooboboobooooooooooooooooDbboooboooDoobD O 330
oooooOoo0 3150000000 0000000000O000O0O0O0OOOODCOOOOO
goooooooovgoooo

033 00000000000000d0d
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Csp = aVT? (5.6)
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Csty = (B1T + B3T? 4+ BsT°) psiy Vity (5.7)
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sty sty
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linearity 0 0 O linearity 0 O O oo

element F (keV) | PH (keV) AFE (eV) PH (keV) AE (eV) 0O00O0O
9"Np-La?2 13.76 13.7240.01  175x12  13.75+0.02  166£10 128
9"Np-Lal 13.94 | 13.90£0.03 - 13.94+0.02 - 230
9"Np-L32 16.84 | 16.90+£0.03  336+25  16.92+0.04 377£30 129
9"Np-LA1 17.75 17.7440.01  193+14  17.75+0.01  195+13 316
9"Np-Ly1 20.78 | 20.80£0.02  133£16  20.79+0.02  142+14 74
2IAm 2634 | 26.3840.02 115414  26.334£0.02  120+15 37
Sn-Kf1 escape  31.05 | 31.16£0.04  186+33  31.07£0.04 167430 31
Sn-Kal escape  34.27 | 34.3840.02 136+14  34.27£0.02  138+17 80
Sn-Ka2 escape  34.50 | 34.61+0.02 - 34.4940.02 - 40
21Am 5954 | 59.504£0.01 14445  59.5440.01 15146 481

055 00000000000000000%Np-Lal,?Np-La200000000000
000000 0OSn-Kal escape, Sn-Ka2 escape 0000000000 2100000000
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